Norrorts Bridge

Bertil 10F 2019-06-11

IMP o6ver faltet, 6 bord, 12 par. Antal brickor: 24.

Plac Par Poang Namn MID Klubb
1 9 205 Bjorn Lindblom - Lars-Olof Hessle 11623 10170 Djursholms GKBK - Norrorts Bridge
2 12 186 Gunnar Franzén - Torsten Svenonius 61262 60206 Norrorts Bridge
3 3 160 Ingemar Kjellberg - Roland Karlsén 92765 37133 LM Ericssons BK - Norrorts Bridge
4 7 117 Marie Andrén - Lars-Ake Sjéstrom 78423 9826  Norrorts Bridge
5 10 68 Cristina Ringstrom - Kent Bodén 39288 40415 Norrorts Bridge
6 11 51 Erik Rydén - Ragnar Botnen 728 44916  Norrorts Bridge
7 4 39 Rainer Eketorp - Leif Tokics 8585 2122  Norrorts Bridge
8 2 -52 Kerstin Hastad - Sten Arklund 11222 2120  Norrorts Bridge
9 8 -76 Marita Grane - Lena Malmberg 52816 56382 Norrorts Bridge
10 1 -111 Per Carlson - Géran Hermanson 37799 37800 BK S:tErik
11 6 -169 Jan Jensen - Kristina Hermanson 92632 42306 Norrorts Bridge
12 5 -418 Eva Wiklander - Bjérn Rosén 17165 17229 BK S:t Erik - Skévde BA
1 a K4 Basta kontrakt 2 41082 Basta kontrakt 3 4106 Basta kontrakt
Nord v Kn9875 5¢v N =450 Ost v 1096432 5NT O =-460 Syd v 7542 6NT O =-1440
Ingen +93 NS +D3 ov + ED1087
#DKn76 & ¢ v & NT *72 & ¢ v & NT #85 & ¢ v & NT
4108632 4 Kn975 N 116 116 8 s E7 4 Kn94 N12451 4 E32 4 D98 N16141
v 632 vE10 S 116 116 8 vE7 v KKn85 S12451 v EK1083 vDKn S16141
¢ Kn82 ¢+ KD1064 017161 + K54 ¢ EKn87 O 11109 8 11 +3 ¢ KKn4 O 127 129 12
#98 2102 V17161 #EKn10983 %65 V 11109 8 11 #EDKn6 #K9742 V 127 129 11
«ED 4 KD653 & KKn754
vKD4 vD v 96
¢E75 ¢ 10962 49652
#EK543 «KD4 «103
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poéang
7 12 3NS+3 42 490 14.0 -140| 7 12 4v O-2 «K 100 320 -320| 8 6 ANO+2 a7 -690 36.0 -36.0
4 3 4vy N+2 ¢K 480 140 -140| 9 1 5¢ V-1 oT 50 240 -240 9 1 3NO+3 ¢5 -690 36.0 -36.0
8 6 3NS+2 46 460 90 90|10 5 3vO-1 &K 50 240 -240(10 5 3NV+3 ¢8 -690 36.0 -36.0
9 1 4vS+1 ¢2 450 90 90| 8 6 3&V+2 42 -150 -2.0 20| 2 11 64V= &5 -1370 -36.0 36.0
10 5 4¢v N+1 ¢K 450 9.0 -9.0| 2 11 54V +1 4T -420 -37.0 370| 4 3 640= &5 -1370 -36.0 36.0
2 11 3NS-1 ¢J 50 -55.0 550 4 3 3NV+2 oT -460 -41.0 410 7 12 640= 47 -1370 -36.0 36.0
4 2 K74 Bésta kontrakt 5 4983 Bésta kontrakt 6 & K972 Bésta kontrakt
Vast vE8 44 N =620 Nord vE87 54 O =-450 Ost v ED652 64 S =980
Alla + K63 NS *72 ov + KKn96
#K9432 & ¢ v & NT #D10762 & ¢ v & NT »- & ¢ v & NT
«D82 41065 N9 8 8 108 4 EKDKNn4 475 N6 1224 485 4 D103 N 118 9 1211
vK75 vKnl094 S 9 8 8 108 v K109 v D654 S61224 v974 v KKn103 S 118 9 1210
¢ D872 ¢ EKn5 O4 45 34 + E965 ¢ KD43 O 7 1111117 ¢ D108542 ¢ E3 024412
%865 #DKnl10 V44534 %3 *K95 vV 7 1110117 «D7 210642 V24412
4 EKn93 41062 & EKn64
v D632 v Kn32 v8
+ 1094 + Kn108 .7
»E7 #EKn84 #EKKn9853
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 6 3NS+1 ¢7 630 40.0 -40.0({10 6 2¢ V+2 &7 -130 380 -380| 3 11 64 S= v9 980 440 -44.0
3 11 3NS= &6 600 37.0 -37.0| 1 7 3NO+1 ¢J -430 -3.0 30 9 2 64S= ¢5 980 44.0 -44.0
9 2 3NN= #Q 600 37.0 -37.0| 8 12 3NO+1 &8 -430 -3.0 3.0(10 6 54 S+1 #Q 480 -18.0 18.0
1 7 INN= &Q 90 -17.0 170 3 11 44 V+1 49 -450 -9.0 9.0 1 7 44 S+1 ¢4 450 -21.0 210
5 4 2NN-2 ¢J -200 -43.0 430 5 4 3NO+2 =8 -460 -9.0 90| 5 4 44 S+1 ¢5 450 -21.0 21.0
8 12 2NN-3 vJ -300 -54.0 540 9 2 3NO+3 v2 -490 -140 140 8 12 3NN= 43 400 -28.0 280
7 & K Bésta kontrakt 8 & EKn3 Bésta kontrakt 9 s E Bésta kontrakt
Syd v EKn5 4¢ SD-2-500 Vast v D6 24 N =110 Nord vKD1093 34 N =140
Alla + E109543 Ingen + K7653 ov ¢+ Kn3
«Kn87 & ¢ v & NT #EKn9 & ¢ v & NT «KD1065 & ¢ v & NT
& 854 « D97 N7 8 484 4 K652 «D4 N7 86 87 4643  aKn2 N859 95
v 10973 vKD862 S 78484 vKKn3 vE10752 S786 87 vEKn7 v865 S859 95
¢ KKn7 D2 06 4959 ¢Kn4 ¢ D109 06 4756 ¢E952 ¢ KD864 048447
#EK10 #D94 V64959 &#K532 #764 V647586 #E83 4972 V58447
4 EKn10632 410987 4 KD109875
v4 v 984 v42
+ 86 + E82 + 107
#6532 «D108 +Kn4
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poéang
2 8 34S= v7 140 23.0 -230(10 7 INN+1 &7 120 140 -140| 2 8 44 S= vA 420 47.0 -47.0
6 5 3v0-1 ¢8 100 17.0 -17.0| 1 12 INN= #2 90 80 -80(11 4 24 S+1 +4 140 13.0 -13.0
10 7 3v0O-1 ¢8 100 17.0 -17.0| 2 8 INN= #2 90 80 -80| 1 12 44S-1 +A -50 -15.0 15.0
9 3 3v0O= ¢8 -140 -19.0 190 6 5 INN= 2 90 80 -80| 6 5 4vN-1 oK -50 -15.0 15.0
11 4 3v 0= +38 -140 -190 190 9 3 INN-1 2 50 -15.0 15.0| 9 3 44 S-1 43 -50 -15.0 15.0
1 12 INV+2 &K -150 -19.0 190(11 4 INN-2 v6 100 -23.0 23.0(10 7 44 S-1 44 -50 -15.0 15.0
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10 & EKKn10 Basta kontrakt 11 492 Basta kontrakt 12 4 Kn872 Basta kontrakt
Ost v E10765 3v S =140 Syd v E10983 6¢ V =-920 Vast v K63 34 N =140
Alla 4987 Ingen +64 NS + K10982
»5 & ¢ v & NT *D742 & ¢ v & NT &K & ¢ v & NT
« D763 498 N37 9765 4 EKNn10 4 K643 N3 1521 210943 D6 N7 99 98
vD3 v K9 S489865 v KKn v 64 S31522 v 982 v EKn7 S799 88
¢ EKn102 ¢ D3 095444 + EKn105 ¢ D9832 09 127 1111 + D5 ¢ EKn43 06 3445
#973 #KD108642 V 9 5 4 5 4 #E965 #K10 vV 9 127 1111 D975 #Kn632 V63445
4542 « D875 & EK5
v Kn842 v D752 vD1054
+ K654 * K7 +76
#EKn #Kn83 »E1084
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 5 4y N= #K 620 53.0 -530| 7 6 44 0O-1 5 50 49.0 -49.0| 3 1 2NS= &7 120 16.0 -16.0
7 6 3y N+1 #K 170 20 -20(11 5 2¢ V+4 &9 -170 210 -210|12 2 24 N= &3 110 14.0 -14.0
3 1 3vS= #3 140 -3.0 30| 9 4 3NV+1l #3 430 -13.0 130 9 4 2¢ N= &Q 90 10.0 -10.0
9 4 3vyN= &K 140 -3.0 30| 3 1 3NV+2 T -460 -19.0 190(11 5 1a N= &3 80 10.0 -10.0
12 2 3y N= #K 140 -3.0 30|10 8 3NV+2 v9 -460 -19.0 190 7 6 34 N-1 w7 -100 -18.0 18.0
10 8 4vN-2 +Q -200 -46.0 46.0(12 2 3NV+2 3 -460 -190 190(10 8 34 N-2 w7 -200 -32.0 320
13 4 Kn52 Basta kontrakt 14 496 Basta kontrakt 15 4 E1072 Basta kontrakt
Nord v E83 2NT S =120 Ost v EKn94 24 OD-1100 Syd v4 4v V =-420
Alla + D653 Ingen + D98 NS + E852
#DKn9 & ¢ v & NT #K543 & ¢ v & NT #K962 & ¢ v & NT
4 KD98 41063 N6 86 6 7 4 D103 4 Kn854 N87 86 7 & K93 « Kn8 N4 226 2
vK107 vKn642 S786 78 v732 vKD6 S87 867 vK103  vED865 S4226 2
+Knl0 4942 06 5765 ¢ E754 +Kn32 056576 ¢ KDKn6 ¢ 104 09 9 107 9
210743 &EKS8 V65765 #EKn7 #1086 V56576 &D75 #EKn43 V9 9 107 9
s E74 & EK72 » D654
v D95 v 1085 v Kn972
+ EK87 + K106 4973
#652 #D92 108
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 7 2¢ S= &K 90 13.0 -13.0( 1 10 INS= +4 90 80 -80| 4 2 4v0O-2 +7 100 44.0 -44.0
9 5 INN= v4 90 13.0 -13.0| 4 2 INS= 45 90 80 -80| 9 5 3NV-2 &7 100 44.0 -44.0
11 6 2¢ S= &4 90 13.0 -13.0f 9 5 INS= 5 90 80 -80| 1 10 4vO= &T -420  -21.0 21.0
12 3 Pass -3.0 30|12 3 INN= ¢2 90 80 -80|11 6 4vO= 45 -420 -21.0 21.0
1 10 INN-1 #2 -100 -18.0 18.0(11 6 Pass -100 100(12 3 4v O= ¢2 -420 -21.0 21.0
4 2 26 S-1 ¢J -100 -180 180| 8 7 14 0O= 6 -80 -22.0 220| 8 7 4v O+l 45 -450 -25.0 25.0
16 & K2 Bésta kontrakt 17 4 D732 Bésta kontrakt 18 49752 Bésta kontrakt
Vast v K1052 5¢ N =450 Nord v K96 6NT O =-990 Ost v 1092 34 S =140
()Y ¢ E543 Ingen + E83 NS ¢ KKn3
#Kn97 & ¢ v & NT #1052 & ¢ v & NT #Kn92 & ¢ v & NT
4 ED754 41086 N 9 10118 10 4 EK54 aKn9 N4 1131 4 E6 41084 N7 7 7 98
vD7 v93 S 9 10118 10 v 104 vEDKn832 S 41121 vKn743 vEG65 S777 98
+Kn92 ¢ K1086 043253 ¢ Kn762 ¢ KD5 O 8 12121012 4975 ¢ 8642 O6 6 6 45
#1086  #D543 V43253 #ED6  #74 V 8 12121012 #ED106 #875 V666 45
« Kn93 » 1086 & KDKn3
v EKn864 v75 vKD8
+ D7 41094 + ED10
*EK2 #KKn983 #K43
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
9 6 4vy S+2 #8 480 16.0 -16.0( 1 8 4v O+l +4 -450 30 -30(12 4 INS+1 ¢9 120 28.0 -28.0
1 8 4v S+l &7 450 11.0 -11.0| 2 10 4v O+1 46 -450 30 -30| 2 10 1#S= v4 70 20.0 -20.0
2 10 4vy N+1 #3 450 11.0 -11.0({12 4 3NO+2 &9 -460 30 -30| 5 3 3NS-1 T -100 -8.0 8.0
7 11 4v S+1 #6 450 11.0 -11.0( 5 3 4v O+2 +4 -480 -3.0 30| 7 11 44 S-1 &A -100 -8.0 8.0
12 4 4v S= #8 420 50 50| 7 11 4v O+2 &3 -480 -3.0 30| 9 6 44 S-1 +¢9 -100 -8.0 8.0
5 3 4vS-1 ¢2 50 -54.0 540| 9 6 4vO+2 v7 -480 -3.0 30 1 8 4vS-2 aA -200 -240 240
19 » EKKNn1095 Bésta kontrakt 20 4 K76 Bésta kontrakt 21 4 864 Bésta kontrakt
Syd v 752 3NT S =400 Vast v D85 3v N =140 Nord v K93 2# O =-90
oV + EK3 Alla +82 NS 49532
*E & ¢ v & NT #EKD63 & ¢ v & NT #D93 & ¢ v & NT
4742 « D6 N576 909 « Kn10543 & ED82 N7 8 957 «E1052 &KD N56 6 6 6
v D96 v EK43 S576 99 v97 v EK6 S78956 v 1062 vKn75 S56666
+6 ¢ D97542 O756 44 4973 ¢+ KD10 044385 ¢ Kn ¢+ KD1064 o87777
#KDKn842 #9 V756144 #Kn87 #1092 V44385 #107654 #EKn2 ve87777
»83 49 & Kn973
v Kn108 v Kn10432 v ED84
+ Kn108 + EKn654 + E87
#107653 #54 *K8
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poéang
8 11 3a N+1 vA 170 140 -140(12 5 2y N+1 vA 140 280 -280| 6 4 240-1 8 50 23.0 -23.0
9 7 34N+l #9 170 140 -140| 9 7 INN+1 T 120 230 -230| 2 1 INO= a7 -90 0.0 0.0
2 1 1aN+2 vA 140 80 -80| 8 11 264 V= #A -110 -9.0 9.0| 3 10 INO= vJ -90 0.0 0.0
6 4 3aN= vA 140 80 80| 2 1 3aV= #A -140 -140 140 9 7 INO= a7 -90 0.0 0.0
3 10 44 N-1 ©vA 50 -220 220| 3 10 34 0= vJ -140  -140 140(12 5 INO+1 43 -120 -6.0 6.0
12 5 44 N-1 ©vA 50 -22.0 220| 6 4 24 O+l 49 -140 -140 140| 8 11 2¢ N-2 &K -200 -17.0 17.0
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22 & KKn9 Basta kontrakt 23 4 D1093
Ost vE104 44 S =420 Syd v 543
ov + D9854 Alla + D10976
&EKn & ¢ v & NT &4
« D75 4106 N 7 8 10108 4 EKKN72 &5
v K76 v D53 S 7 8 10108 vE v 10962
+ K3 ¢EKNn1062 OS5 5 3 2 4 ¢+ K8 ¢ EKn53
&#D8532 #1094 V653335 &#EK1065 #Kn972
« E8432 & 864
v Kn982 v KDKn87
7 ¢ 42
»K76 D83
Par Kontr Ut Res Poang Par Kontr Ut
1 11 44 S+1 &5 450 290 -290| 9 8 54V= v3
7 5 44 N+1 T 450 29.0 -290| 1 11 540+1 ¢¥3
3 2 34S+1 &5 170 -12.0 12.0| 4 10 5 V+1 T
4 10 24 S+2 v6 170 -120 120 7 5 3NO+1 ¢vK
9 8 3aN+1 T 170 -120 120 3 2 6% V= +6
6 12 24 N= o7 110 -22.0 220| 6 12 64V= T

Basta kontrakt

7%V =-2140
& ¢ v & NT
NO3421
S03422
O 139 8 1111
vV 139 8 1111
Res Poang
-600 29.0 -29.0
-620 25.0 -25.0
-620 25.0 -25.0
-630 23.0 -23.0
-1370 -51.0 51.0
-1370 -51.0 51.0
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